2 RERT-AIVTRERR

EJESE i - ER (Ba/kg)
NO £ we | maee | weg | PRES % iy 28 BEH GaE | BRR ER % | wokoise| wokee
1| RBBE=AIVY | (BEBR) | BER |REERW | ERER - B THUx BERREREEVY— Ge H24.1.11 | H24.1.12 <11 <13 <1
2 | BRRE=SULY | BER) | BER |Blm FRER - HRE =3 (&) ERERREREVY— Ge H24.1.11 | H24.1.12 <92 <14 <11
3 | BRRE=AULY | BBR) | #BR |WhEm FERE R - L] avvF BRERREREEVY— Ge H24.1.9 | H24.1.12 <83 <11 <1
4 | BBRREZAUVY | BER) | #BBR |WhEm FRER - FRE Y=—LAEX RERREREEVY— Ge H24.19 | H24.1.12 <11 <12 <11
5 | BRFEZAULY | (BEBR) | BEBR |[LWhEh FERE R - 5] ZERF (R EERREREEVY— Ge H24.1.10 | H24.1.12 <76 <13 <1
6 | BRRE=4ULY | BER) | #8R |[WhEH FERER - BRE 4 F3 (§EE%) EEREEHREELS— Ge H24.1.10 | H24.1.12 <6.1 <86 <82
1 | REBE=4JULY | BEBR) | #BR |[WhET FERER - BRE A F3 (§EE%) EEREEREEVS— Ge H24.1.10 | H24.1.12 <76 <9.4 <9.0
8 | BRRE=4ULY | (BER) | BER |BZAT FERIE - xR T RINTHR (HEER) BRERREREEVY— Ge H24.1.10 | H24.1.12 <63 <11 <86
9 | BRRE=4ULY | BER) | BER |MREm FERE R - 5] FIF RERREREEVY— Ge H24.1.10 | H24.1.12 <92 <13 <12
10 | REABE=4JLY | BBR) | =B8R |(BNH FERE R - 5] TEAZR EERREREEVY— Ge H24.1.11 | H24.1.12 <80 <14 <1
1" | REABFE=4JLY | BBR) | =B8R |(BFH FRER - 5] 25/ A (M%) RERREREEVY— Ge H24.1.11 | H24.1.12 <74 <98 <83
12 | REBE=4JYLY | BBR) | =B8R |[AREH FERER - 5] SXF (HEER%) EEREEREEVY— Ge H24.1.10 | H24.1.12 <85 <11 <1
13 | RABE=4JLY | BBR) | =B8R |[ARES FERIE & - xR SXF (HEER%) ERERREREEVY— Ge H24.1.10 | H24.1.12 <99 <13 <938
14 | REBE=4JILY | BBR) | =B8R |[AMREH FERE R - HRE SXF (HEE%) EEREEREEVY— Ge H24.1.10 | H24.1.12 <17 <11 <86
15 | RABFE=4JYLY | BEBR) | =B8R |[ARE® FERE R - HRE )—TLAR (%) EEREEREEVY— Ge H24.1.10 | H24.1.12 <11 <15 <15
16 | RABFE=2JYLY | BBR) | #BR |(XEMh FERE R - 5] pEN EEREEREEVY— Ge H24.1.10 | H24.1.12 <12 <13 <13
17 | REBFE=4JLY | BBR) | #BR |(XEmh FERE R - B pEN EEREEREEVY— Ge H24.1.10 | H24.1.12 <94 <14 15
18 | BRRFE=SULY | (BER) | #BR |KEH FERE R - HRE +Y EEREEREEVY— Ge H24.1.10 | H24.1.12 <11 <15 <14
19 | REBFE=4JLY | BEBR) | &=ER E= L IR - xR 25/ A (HEE%) EEREEREEVY— Ge H24.19 | H24.1.12 <83 <11 <96
20 | BRERE=4ULY | BER) | BER (&I FEIE - xR RoLY (HEER) EEREBEHRE L I— Ge H24.1.10 | H24.1.12 <12 <13 <12
21 | BRREZAULY | (BEBR) | #BR (=& FERE R - HRE T RINTH R (%) EEREEREEVY— Ge H24.1.11 | H24.1.12 <97 <11 <85
22 | BRRE=SULY | BER) | BER |=&m FRE R - xR AF3 (HEE%) EEREEREEVY— Ge H24.1.11 | H24.1.12 <63 <79 <63
23 | BRRE=SULY | BER) | BER |LEEr FERE R - xR S EEREEREEVY— Ge H24.1.10 | H24.1.12 <67 <79 <94
24 | BRERE=SULY | BER) | BER |Fiter IR & - FRE =3 (HEHR) EEREEREEVY— Ge H24.1.10 | H24.1.12 <90 <938 <94
25 | BRRE=SYLY | BER) | BER |Fither FERIE & - HRE =3 (KEHR) EEREEREEVY— Ge H24.1.10 | H24.1.12 <76 <85 <69
26 | BRERE=SULY | BER) | BER |LEET FERE R - R shy EEREEREEVY— Ge H24.1.10 | H24.1.12 <78 43 60
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BEE
(Ge./Nal)

BRERE
(BBAR)

AR
¥IBA A

R (Ba/kg)

Y h-134

REBE=2)LY

Ge

H24.1.11

H24.1.12

<82

REBE=2)LY

Ge

H24.1.11

H24.1.12

<78

REBE=2)LY

Ge

H24.1.11

H24.1.12

<M

REBE=4)LY

Ge

H24.1.11

H24.1.12

<76

REBE=4)LY

Ge

H24.1.11

H24.1.12

<99

REBE=2)LY

Ge

H24.1.11

H24.1.12

<11

REBE=4)LY

Ge

H24.1.11

H24.1.12

<95

REBE=2)LY

Ge

H24.1.11

H24.1.12

<94

REBE=2)LY

Ge

H24.1.11

H24.1.12

<74

REBE=2)LY

Ge

H24.1.11

H24.1.12

<98

REBE=2JLY

Ge

H24.1.11

H24.1.12

<88

REBE=2JLY

Ge

H24.1.11

H24.1.12

<80

REBE=2)LY

Ge

H24.1.11

H24.1.12

14

REBE=2)LY

Ge

H24.1.11

H24.1.12

<9.0

REBE=4JLY

Ge

H24.1.11

H24.1.12

<95

REBE=4JLY

Ge

H24.1.11

H24.1.12

<80

REBE=4JLY

Ge

H24.1.11

H24.1.12

<85

REBE=4JLY

Ge

H24.1.11

H24.1.12

<89

REBE=4JLY

Ge

H24.1.11

H24.1.12

<80

REBE=4JLY

Ge

H24.1.11

H24.1.12

<82

REBE=4)LY

Ge

H24.1.11

H24.1.12

<91

REBE=2JLY

Ge

H24.1.11

H24.1.12

<97

REBE=4JLY

Ge

H24.1.11

H24.1.12

<92

REBE=4JLY

Ge

H24.1.11

H24.1.12

<86

REBE=2)LY

Ge

H24.1.11

H24.1.12

<1

REBE=2)LY

Ge

H24.1.11

H24.1.12

<91

REBE=4JLY

Ge

H24.1.11

H24.1.12

<93
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@A

BEE
(Ge./Nal)

BRERE
(BBAR)

AR
¥IBA A

54

REBE=2)LY

47

Ge

H24.1.11

H24.1.12

55

REBE=2)LY

47

Ge

H24.1.11

H24.1.12

56

REBE=2)LY

47

Ge

H24.1.11

H24.1.12

57

REBE=4)LY

47

Ge

H24.1.11

H24.1.12

58

REBE=4)LY

47

Ge

H24.1.11

H24.1.12

59

REBE=2)LY

47

Ge

H24.1.11

H24.1.12

60

REBE=4)LY

47

Ge

H24.1.11

H24.1.12

61

REBE=2)LY

47

REFREEV 59—

Ge

H24.1.11

H24.1.12

62

REBE=4)LY

/o

BERRFHEV4—BE

Ge

H24.1.11

H24.1.12

63

REBE=2)LY

/o

BERREFHELA—EE
X

Ge

H24.1.11

H24.1.12

64

REBE=2)LY

/o

BEREFHEVS4—ESE
X

Ge

H24.1.11

H24.1.12

65

REBE=2)LY

/o

BEREFHEVS4—ESE
X

Ge

H24.1.11

H24.1.12

66

REBE=4)LY

/o

BEREFHEVS4—ESE
X

Ge

H24.1.11

H24.1.12

67

REBE=4)LY

/o

BEREFHEVS—ESE
X

Ge

H24.1.11

H24.1.12

68

REBE=2)LY

/o

BEREFHEVS—ESE
X

Ge

H24.1.11

H24.1.12

69

REBE=2)LY

o

BEREFNEVS—ESE
X

Ge

H24.1.11

H24.1.12

70

REBE=2JLY

/o

BEREFNHEVS—ESE
X

Ge

H24.1.11

H24.1.12

71

REBE=2)LY

/o

BEREFHEVS—ESE
X

Ge

H24.1.11

H24.1.12

72

R2HE=SILY

/o

BEREFNEVS—ESE
X

Ge

H24.1.11

H24.1.12

73

R2HE=S2)VY

/o

BEREFHEVS—ESE
X

Ge

H24.1.11

H24.1.12

&R (Ba/ke)
I9%-131 | £Y94-134 | £ 4-137
<63 <92 12
<55 <6.4 <6.6
<6.7 27 M
<52 <90 <76
<50 <91 <80
<17 <18 <83
<638 <84 <713
<16 <93 <78
<13 <14 <11
<11 <14 <11
<13 <13 <12
<11 <15 <16
<89 <12 <15
<14 <17 <14
<712 <13 <13
<94 <15 <93
<12 <13 <13
<12 <17 <12
<12 <12 <12
<11 <14 <12




